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I-mon: «Kwvi3vi1 2cyovi3»
1I- mon: “Kok ycynowi3”

HI-mon: “ /Kacwvin scynowiz”
IV-mon: “Caput rcynowi3z”
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Kici ammaput,
Kala ammapuol
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Anvicman Kapacay annak,
Tamuwvin kepceH, mammi-ax,

KAHT
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Kaoam-kaoam kammama,
AKbLibiH 001Ca ammama.
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Kvicma Kuimin macmaiiowt,
Koxmemoe kuine oacmaiiouni.
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Taumen Ko3in auiaoni,
dJjliemze HYpPblH Wauiaobsl
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Kanxuzan y3vin Kynazol,
Enenoen Kopkoin mypaownt
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Konuwt srcok, cypem canaoet,
Tici ycox, micmen anaowl.
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Kinukenmau 2ana 6ounot oap
Attnanosipvin Kuzen momnuvl oap.
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